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1. Let the money supply growth be such that M, = pM,_q for each period ¢ where
=
(1) {5%) What is the government’s moal revernie from printing money?
(2} {10%) Fxplain why cconomists oflen refor to the government's revenue from
money creation {eeignjorage} as the inflation +4x7 Do you think thal she govern-
ment can rajge seigniotage withonn limit? Why?

2. (10%) T the standard national sccounts the norainal deficit is
(M + D) — (M 1 4 Do),

where M; and B; denote the money supply and governmment boncs in period £,
Humae coconomielg argue that

(M + By) - [+ )Moy + By

where m,_; — (F, — Fi,1)/Fi--, Is 2 mare accuratc measure of government's
obligation. What do you think? Compare these two measures and explain.
(Hink starct with the real defieit

3. (10%) In & currency reform the guvernment, replace Ol Faiwan dollars with New
Taiwan doilars. People can exchange their old correney for the new one ot a ratio
of 40,000 to 1. Also, any contracts that were writton in terms of Old Tatwan
dollars are converted at the above ratio. Whal are the effacts of the CUITENCy
reform rm price level, interest rate and the quantities of cutput? Fxpain.

4 {15%) Suppose that the government obraing a sipnificant portion of ita revenue from
TOanEy eréation. Suppose now that the government ants current, NLOTELITY growth
in an atlemnpt to reduce inflation. Howesver, the sovernment does not. change the
current or future values for its real expenditures and tax receipts. What do VM
think would happen to the inflation rate? Would this policy be successtnl? Why?
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During the Fresidentisal elecsion canpasign, there was & Sarious
internationsl reserves outflow because df mainland China's
militery bulldup =nd i1ts provoecstlons in the Taiwan straits.
The Cenbtral 3ank of China thus sdophbcd bwo peolicy measurssg.

One 1s to mail=ntain the sxchange rate =t the level of 27.5 NT/US
Angtrer 1s te leower the rerulred vaserve ratio further.

(1) What are the purooess of Lhede pollicy wessuras 7

i} Please analiyze tha iupacts zf She wicle event on interast
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rate and exchungs rete.
(25}
AT gpen egorony 1s descrinec by

Voo ZUTY + I{r) o+ U o+ TLE Y,V

M/F = L{T,r} , MN=DBE+FE

r = r*
whers Y=outpat, OC=comaurption, I=investnerns, G=government spending
T=trade halance, E=exchanoe rate {nstional currencies per upnit of
foreign currsncy), Y*=foreigm asvtput, Le=roney denand, M=money
aupply=dowcatlc credit(dR)+foreign resorve(FH}, redorestic
interest rate, r*=foreipgn intarest rats. Assume there is perfect
capltal mobility and the central bsuk hae no sterilized operation.
Flegzge uag diagremns teo exasine the eifzcts of a fiscal expansion
an ocunput
under 8 a fixed exchange rate. h) s fleating exchanpe rate.
Poes a mometary expansion have the same results gs a fiscal
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